GENERAL ENGLISH

Four alternatives for the unde
ark it as the answer.

Direction for Question No. 1 10 e sentence underlined.

the
5 a sentence with a part of
ok e o is correct. Identify the correct one and m

rt are given. One of them
pe & t 1LEl.

: {, Chetan knew thdth;_g_g’_ﬂlﬁ[_wL- Bk ter than another writer
e was greater %
o A) e wes grestes Shae PR i @ﬁ was greater than any other writer

C) he is greater than any other writer

l t a restaurant for lunch.
2. We had been almost hal there when we decided to stop a
A) had been almost almost 7@:1&1&: going to be almost D) were reachin
Y 3. My scores are better than all the boys in class.
_fm‘[‘ﬁ"dn,afl the boys in the class ,@han all the other boys in the class 2
) than any other boy in the class @than those of any other boy in the c :

4. he informed me that ghe will visi 0 ' . »
;he would visit my office in a day or two <_Byshe visits my office ina day or tWo

she could visit my office in the coming two days D) she couldn’t visit my office ina

5. __ﬁLm:rking back, I can rarely remember my childhood. :
7, {:j ) can rarely remember B) can lately wmcmbm@?cm]y remember D) can shortly re%cr; s

Direction for Question No. 6 to 10 :
Each question below has a sentence. From the choice provided, identify the one which bﬂ't restates ﬂu,r

gfw.-n sentence and mark its corresponding letter as the answer.
6. _Sepsible and wise politicians should always keep their options open.
_,!_ﬂ‘-,‘ t is wise not to rule out anythine in politics
ything and everything is ‘lap 0 rtin Lrpollics
-_E¥Politicians should not ignore anything that comes their way
D) One should be choosy enough to decide on right things in politics

7.  Although he is wrong, he is so egoistic that he will never admit his mistake. »
A) Although he is egoistic, he will never admit that he is wrong | /

B) He will never admit that he is egoistic although he is mistaken
- . ummmakcnthathcwﬂlncvaradnutﬂ:.alhmswmng,ashemegmsﬂcwf gt i |

Mhough he is wrong, he is too egoistic to admit his mistake~

L

ek to pay a heavy price for being indolent. L,/" '
.-. mpaynij?mﬁefnrhm indolence B] His being indolent had paid him a heavy price '
: as pai mhmforhmmdolm uwaspmdahe&vypnmforbcmgmdulml *




His application was rejected because he was not qualified for the post
ﬂpplmauun was rejected, he was not quaﬁﬁuﬁﬁrmm

—A7As his L// W e
\ His application Was rejected hence he was not qualified for the post &= .

3 ing unqualified for the post, his application was rejected
&Flis post was not qualified because his application was rﬂjectod

irection for Question No. 11 to 15 :
Read the following passage carefully and answer ﬂ:z questions given beluw it. Base
chis passage states directly or implies.
For me, scientific knowledge is divided into mathematical sexmm, natqml |
qatural world (physical and biological sciences), and sciences dealing with mank S
<ciences of cultural achievements, every kind of historical knowledge). Apart from th
about which we will talk shortly. In the first place, all thlljs ‘pure or theoretical knnw dge, soug
purposé of understanding, in order to fulfill the need to understand that is intrinsic and con ., bsta

distinguishes man from animal is that he knows and needs {0 know. If man did not know tt - :
that the world was of a certain kind, that he was in the wor and that he himself was of a mnm hﬂ# puldw’ %
be man. The technical aspects of applications oj:kmwm_eq"ﬂ”:mm““ fmmlﬂﬂmuﬂu y :t-

importance, because they also contribute to defining him as man and permit him lupu.rm 1 ¢ increasingls m
truly human. S _.,..“
But even while enjoying the results of technical Eggms,.he must defend the primacy and m]p pure
knowledge. Knowledge sought directly Tor practical applications will have immediate and foreseeable ¢ 5. but
not the kind of important result whose revolutionary scope is in large part unforeseen, except 'by{ﬁg. agination ¢
the Utopians. Let me recall a well known exam ‘ he %ﬁ; atici ! e A T

lé tttmightﬁoﬁndqybzuwﬁﬂ itm

- mutstrgqnon of conic sections, zealously and withoult
.'FT“[ 1x'EE;.-.::/1_&£nh1h centuries later to anamm'shum The first men to study the nature ﬂf&lmmciy sould
not imagine that their experiments, carried on because of mere intellectual curiosity, would eventually T
modern electrical technology, without which we can scarcely conceive of contemporary life. Pure kn__'* dge is
valuable for its own sake, becagsiz mg timym sk Z7a i e nll l'tmff‘ﬁaﬁnmncﬂ. Butinadr.llﬁom

B, o e — EA-EINTZD

foundation for practical results that would not have been reached 11 this mwwm not been sought disit teres ° o

11. an be inferred from the passage, that to the author, man’s nml to know is chlcﬂy important. In thaht: |
tinguishes him from other forms of life B) encnmpambothphyﬂﬁl and social sciences  _—
#monstrate human vulnerability D) allows the human race to ﬁiw:u “tedmiuﬂy =)

12 ;Wor includes amo smenccs all of the fulla\\ﬁng except:
c

hemistry I‘G‘ mﬂm}'

13 author indicates that most important advances made by i
)apparently useless information & s
) the natural sciences =

14. Th(: author points out that the Greeks who !Btl-lﬂlud ¢ e
invented modem mathamatmal appllmuam =07




Direction for Question No. 16 to 20 : !
Rewd the sentences and fill in the most suitable
t6. He finished his assignment at the earliest being th

__depresides

planks with the

A) bat ,-ﬁ‘ﬂmlwr
17, __ before moving out of the room.
e usting quickly his tie he B) To quickly a
C) Adjusting him quickly to e € qﬂiﬂk]}’ a

exploits.

18, . and of thieves was 1 ous for
Al s “B)their C) theirs

19, " .
e a whole week 1 did not feel like going office.
g i B) Since For

20, - | of a sudden he hit a plan.
k_iﬁﬁ\m B)on C)in

Direction for Question No. 21 to 25 :
Choose the word with the incorrect spelling.

C) Believe
C) Glamorous
C) Basically
C) Supersede
~—€7Lollipop

Direction for Question No. 26 to 28 :

e last to start.

djust t.hﬁ Li-c'l- h‘c = .
djusted his tie /

: thmmmmmq;ﬁgm

@mi X7



tion for Question No. 29 & 30 - ‘*

In cach of the following questions, the semy -5 ;“

is labeled P Q. R and 8. Find out the orde in are *“
ro-’lc’ffﬂf paragraph. Mark the letter which ; IJ *-h

P Iwl ':1;'.nuac4:p1.af“ } ﬁ' h

R. It is a very mh:l”l:‘slui‘g‘%k._!Q Q. The book m@
ROSP

A) SRQP

P There 1s nO competition on the exfra’mile.

R. We have no competition. g ::;W‘“ o ﬂlhld_n h&‘m
A) PQRS B) QPRS m!’lﬂr:muudhﬁy. :
X (@w

Pirection for Question No. 31 to 33 ; - : A;"-.‘ e

In the following questions choeose the word pposite .‘f“‘ L
Jovial “ in "IE 'fmhm , — _
,mﬁ'{;d.,d B) Paralyzed C) Jubilant ' |
Zent
AY Qasua ‘—@Hmﬂ-worhng C) Loyal
83. Ferocious —

A) Fierce B)YWild @m

Direction for Question No. 34 & 35 :
In the following questions choose the word similar in meaning of the given word.

B) Pleasant C) Steal

Vain

A) Vessel /}; MWorthiess C) Respectful

35.

Direction for Question No. 36 to 40 :
Each question has a sentence with two blanks followed by four pairs of words as choices. From

select the pair of words that can best complete the given sentence. - g .
36. news about the bank  threw the stock market mto a Yo
ud, turmoil B) account, epidemic -@ﬁ,m
37. It is better to suffer pain and under your 0 than relative
oss, safety B) ache, joy mmtr

38. The two men msfur}r andraﬂm'!mhdﬂ:embulh:l

life.
A) close, wide ’ ipadar, diverse

39. Itis

writin prone to -
ﬁfﬁ:ixij:g, disputes

C) appealing, tributes



; 41 “ \."i".\t?:-r. ‘-'L\\_L I.'.tnn.l-[ |.’|i.- .\,..L'\ e L-}Tﬂi\l
: A .‘w w York B) Mumbai
i N o

- - ‘
O D) A

% srrTad I Wi !

s Which of the = . @ . =4T —er fTRLian omocall

A) Pacific occar !1; N Lar -

> D) Jhora

43. Which of the following 18 & dance | JANETa
A) Kathak -MT"; @

44, Who nlhr curreny! L h l."J ¢ | maadas )
A¥ .\4 noct kaur ’ ah Muwra L p Sk el li-u["u
45. [ heguisod Lne et relers

~ArTEople wilh
) ynCIDPROYTRCE 4 rgsd W it
Q i N, urr‘_ 1{'1\“ i ':-...:.. __."..‘J fowr & i - ] :r' LA ‘I_H;:‘il.“"!,r
7 unemplovisemnt sy st Y FETD

46 Identily the kg

) Lufthansn sirlines ) Malaysion siriines S Trance D)

47. “Kandla™ port is locatcd m ™ stae
/.'/T;:‘u;.lﬂ! 7T

A) Kamataka ) Andhr h‘hhk.‘_

of the followng plancts bas 8 nag sround 1™
B) Mercary C) Man

49, is the curre= Prime Munreter of Pakistan”

, Khagaa Abbas: B) Nawaz Shanf ) Mamnoon Hussamn O‘l
s0. ’,’ “um-.nnmumas—um

: w B) Los Angeles C) Pars D) E

~ *r' _. h“mmhw “Indira Canteen™ for the urban

LS

"



_among the following has topped the list _ ' =
1\. it Kohh B) David W; of 201 71CC O L

Pgﬁitlfﬁf 's Rule can be imposed
by the president alone

() by the president on advigce of G mwh
President
Who is the author of the book 1 on advice of Chief Minister
A) Mahatma Gandhi B) Jawal Lil!m "y
, The headquarters of The British | ‘ . ) Amitav Ghosh |
> g Corporation (BBC), a British public service broadcaster is I
4 ’hf] | pridon B) New York & ¥ is located
Which of the following is not owned by Aditya ) ’mh
-0 A ﬂj@" D) Hindalco

89, _AUhiah is the largest internal organ in human body?
k-.mll/ifl' iver .’Jﬁ'-'"m C) Brain ﬁ Pmm:/—

. “Chipko" is a protes movement against:
_A)@obal warming B) River Pollution C) Animal poaching K@W

The “Leaning Tower of@:lmalﬂd in which country?
ly CfTHnce D) Greece -

1 I'I-
A) Germany

ie, Caddie, Tee, Links, Putting the green” arc lerms assoc

62. “Hole, Bogey, Put, Stym
A) Cricket ,W C) Bascball %o
- - i . i
63. Which ofthe following ompany does not beiong Mty | -
A) BMW B)Audi D’!W&Eﬂi
64. Bitcoinis
] iroduced by the USA

A) A type of new coin In
_G¥K type of currency used by Pay™

on of texts on:

65. “Upanishads™ arc collects
B) Law

P

66. “Because

__,,ﬁﬂ't':ncral Electric
§7. hIGST,'T stands for?

you're worth it’ * is the tagline of which company?
B) Accenture C

g
68. Which of the following S088 is sung by Arijit Singh?
A) ChhaiyaChhaiya ~ B)JaiHo

AT cmﬁﬂ:mw&@kr O e



f which ¢4 |3y Mexio
ational gaime () Gpain
70. I!uil Fighting ‘g the natio o

JRA
A) Hussia - w

i 1 vitnl @ doncs i’/ I Iﬂ”lh“
71. What s the caf ital af In B Phom penh )L
A) P}rrng.'}'il.fi;.'

Imimn CRO?

o vl an
g L:UIH[JHII,"r":]nt..JIHIJ by oy Mautar i

72.  Which of the followin :
A) Adobe B) Google .
' | Jetly mateh
airy — present curreney 4 not correctly B
Sy o chidhae muwml Vg (') Syria Syrian Pound

unisia - Dinar Hj [hracl [sracli Lird

fluctuations 14 pnpular’iy known s

1) Ilundl

gees due to currency

7 )}
4 sk ;‘;:ifﬁ?ﬁﬂm > fedging (') Round tripping
" . ¥ -I"
75. _wfmh of the following is the laggest economy 1044 after USAY D) Fl
- 4 ;11) }{US.‘:'I.H ﬂpﬂn Ilﬂ

idia?

7oh of the following is thé oldest mountain range | 3
avallis B) Zaskar Range <C) Satpura Hills D) Saliye e
Wurlr.i Ozone Day fs cel : v
A) February 28 :ptember 16 C) April 6 D) Decembe
78. Which of the following i a part of United Nations?
A) UNESCO NAT 2 ABICE? IMFE
A4
79. at is BrahMos? :
dfa:s first supersonic missile in service dia’s first re-usable space rocket i 11‘1
C) India’s first nuclear submarine in service D) None of the above

80. Who invented the World Wide Web (WWW)? —
A) Larry Page B) Sergey Brin Steve Ballmer




¢ (uestion BOS. 81 to 85 :
 (he given information careful : - W
i v U ten ol ond e el s
fenalcs The ||., 1.iri.f lwﬂ married couples and two persons z;re u;ﬁaﬁuﬂf;a]l;;ﬂa, there are mmﬂﬂm%m a
drinks. '”]':-l‘; ";*hf" llkesTCukc, s the mother-in-law of Abhay, who is the wi;: otj‘lé Ul;fhﬁﬂl T S
Fatima and 1€ GOES not like Thumps Up or Pepsi; Banta likes Limca and is the :ish:: ngrﬂmpak, . thﬂ f_i’ﬂhm'. o
;al_:q‘m who likes Sprite.

Cathy does not like Pepsi. Fanta is another cold drin]
- . _ll m‘h
tho among the following likes Thumps Up? 07 . Q_fm. :

) Qathy o C) Abhay D) Data inadequate (
How is Fatima related to Emily?

A) Brother B) Father @nn : M f}aughtmr

B Oncofthe married couplgas

_ “gg;-/ﬁcup;ak Banta epak — Emily \?) Banta — Fatima ':7&[_]) Emily - Fatima
Which of the following cold drinks'is liked b \

A) Thumps Up B) Fanta _mh@cpsi fﬁf inadequate

How many sons does Epafiyriave?
A) One w 0 C) Three /Q}h“

i'rectiun for question nos. 86 to 91:

Study the given information sarefully
(i) Alex, Betsy, Chloe, Dennis, Edw avdl, Fions, Gilws and Helbn 7o fa Vs \ers sitting

the centre.
(ii) Dennis is the neighbour of Alex but not of Herbert.

(iii) Betsy is the neighbour of Fiona and 4th to the left of Dennis, .
(iv) Edward is the neighbour of Herbert and 3rd to the right of Fiona.
(v) Chloe is neither the neighbour of Alex nor of Giles.

— e

86, Which of the following is incorrect? i "ﬁ"'- s
tsy is to the immediate left of Herbert B) Herbert is to the immediate Ieﬁl,nfan LI
ennis is 4th to the right of Fiona D) All are correct !

B7. Which of the following is correct? : | )
A) Dennis is to the immediate left of GilES TR SSgi ) Alex is between Cﬂmmﬁ _'
3 naisSrd to the right of Dennis D) Edward is between Herbert and

' A vl
1as the 2nd person sitting between the 1st and !

les-Alex-Dennis G}M‘Mﬂ : rbert

Which of the following pairs has the st person sitting {0 "
A) Betsy-Herbert B) Fiona-Betsy |
. g ;

2 CF G0

.. B "'--i“_'::-r S
Rt . %




: ther?
. . vairs are 4th to 00€ ano ennis-Chlo®
0. Whichofthe mll.ljwmg ¥ B) Fiona-Herbert ob . S
hloe-Edwards ' ill indicate Alex’s posilic

oe and Giles interchange their positions,

. IfChl : A
v A) To the immediate rilght of Giles
C) 2nd to the left of Giles
Direction for questit'm nos. 92 to o4 : u
- Find the missing number. aw |
92, 22,42,64,88,7 : ' D) 116
' 18
A) 112 | o)1 | :
93. 4,2,8,16,128,? . JJ :
A) 562 B) 1018 C) 2024 . - l
94, 13,29,89,181,545,7 ; « 5
A) 1077 b 093 C) 1637 \ _ D) 1781
95. Five persons— A, B, P, Q and R are of different heights: A is taller than only B, ller th
tallest. Who among them is the tallest? ’ _'
JA}A B) B e P ¥ ' 1 :l!ll;i_??-_..'
i ey (2%

96. Ram started from his house and travelled 5 km qowafds the East. Then he turried to his left and ¢
Again rumed to his right and travelled 5 km. Finally he travelled 11 km to his right to reach the office,
how far is his office loca m his house and in which direction? | - g
A) 10 km, East * km, South- East  C) 8 km, West - D) 8 km, ]

i t--

97. Ina certain code language, if ZXTSWEL 1 2oded as BI'VAJY. aad CHOICE is coded as DIRME

MINUTE coded in that language?
A) NKQAYK B) NKQZKY C) NKQYZK . @
98. E)HEAR;I‘ is related to IOLOGY then what is related to EYE.'} 3 - e
; Opur: o htha{mulogy C) Dermatology % '

99. Students say they are more comfortabl itti |
e submitting applicati : : . "
an.mnwledgc letter. Which of the following E.af bsizn:aunnsﬁ?)}’ registered post, as the post off
;} ents will submit application by registered post m the above statement?
i C) The acknowledgement letter comes handy,in case.the f; K "y 5
O Theapplications may be misplaced gets misplaced  + 1\ /]
€ ) Ppere are other ways in which applications can be submitted | /N
Minor

R
L \



-. =
IGratenis!
nl:d' !:!:‘E” seclor.
5l :

lonclusiot:

§ \srun does not belong to the farm sector.
1. The government is unable to ensure suﬁci@of power to match the demand.

' 4) Only conclusion I follows nly conclusion II follows
€) Either I or 11 follows ) Neither I nor II follows

| Statement: “Had I been given an option to choose my subjects, I would have probably chosen Arts”, said the topper
of the Science class.
Conclusions:

I. It 1s easier to study Arts than Science.

Fhe topper did not study Science by choice.
‘A) Only conclusion I follows @ conclusion I1 follows L///_
N

C) Either 1 or 11 follows - either I nor II follows

ction for question nos. 102 & 103 :

. In the diagram given below, the Pentagon represents students aspiring to be a doctor, the Rectangle represents
students who scored 90 or more marks in MBBS, the Circle stands for the students who got admission in J,
UNIVERSITY and the Square stands for the students whe did well in the interview. The different regions

are numbered from 1 to 14. Study the diagram and answer the questions. m
Yeo b oA vrure el A
‘l['!‘h \r @-“ P D Ll ot

ﬁ *l -
2. The students who aspire to be a doctor, got 90 marks in MBBS and have not done well in the interview but gota

A UNIVERSITY is indicated by . | At
1l AJ-*»? ) B)S on )

; 3 - . W e e =2 :
03. The students who aspire to be a doctor, did well in ll}:e: interview, got admission 1n J. UNIVERSITY bu

ks is indicated by—— ™ - 2
jjg e C) 12 D)9,

‘ecﬁnu for question nos. 104 to 106 : . | : > N
 Read the following information carefilly and answer the questions EWes heles

SevenperscnsP,Q,R,S,T,UandVarE . S
Pfrﬂﬂnis{allerthanl?..mnumbﬂrnfpﬂ‘mwm- al to the num

shorter than S, who is taller than V- Vis 18;1__@1.@.
taller than Q. The person, who 1S the fmﬂhm




105. What can be the height oLQ” C) 180 cm
A) 196 ¢cm ? 93 cm a

height of R? 4 cm
lﬂﬁ. Eﬂ;;]bﬂ the Elgh 0 B] ]g Lhan i ofthﬁ abow
D) More
C) 187 em

to 109 :

u
ation carefully and answer the 4

Direction for guestion NOS. 107
Read the following inform
| . ' fo : :
64 small cubes painted in Orange color are co?nbmed ms“e T o i paimt 4t
Grey on one pair of opposite faces. Another pair of 0pp©

painted in Blue.

107. How many smaller cubgé/liave al least 3 colors on them? D) 36
A) 30 @ 2 C) 34
108. How many smaller cubeg have at most 2 colors on them? D) 36
A) 30 32 C) 34
109. How many smaller cubes have exactly 3 colors on e D) 26
A) 20 B) 22 ;
110. What was the day of the yweek on 16th August, 19477 gt
A) Sunday fanuday . (C)Monday D) Tuesday
111. What is the angle between the 2 hands of the %24 PM?
A) 100° ) /Ag ¢ PN\ ANY 08" D) 1_05“

.

Direction for question nos. 112 to 115 : .
In each question, there is a main statement followed by four statements a, b, c and d. From th

choose the ordered pair where the first statement implies the second statement and the two are

consistent with the main statement. N\ A
112. Swati would be selected in the first company, if she has an excellent academic record. X/
a. Swati is selected in the first company. b. Swati is not selected in the first compény. Al

wati has an excell{ agacemic record. . Swati does not have an excellent academic res

if Abhijeet has good knowledge in classical misic, he would be elected as Musical Idol.

not elected as Musical Idol.




5. Whenever Sandeep receives a messa
~ 4, Sandeep did not receive a messag
b. Sandeep is on cloud nine.
c. Sandeep is not on ¢loud nine,

d. Sandeep received a message from Sangeeta,
7 -/@:!d T P
irection for question nos. 116 to 120:

Read the following information carefully and answer the questions given below. All the codesZiven below
are only in two letters format.

R
m ! () {"JK L gl
Banks are digital today” is written as “Zi Li Ki Ti" - !33___. ? gm’a}
T \

O
o%zg: %&‘“

ge from Sangeeta

» he seems to be on cloud nine,
e from Sangeeta,

Money transfer through bg‘}?ks‘k‘:s Wril’.tcl:l dSra_:Dl K?:;]i K" “Ted
Jigital rgoney casyﬂow 18 written as * S;@ Bi
‘We have leave” is writlen as “Gi X1 Vi (!

Whai iltha&ﬂﬁ Ssible code or “Easy for transfer”?

A)FiBiZzi ( BYDi Ji Bi , D) Fi Li Xi
[« If “Banks have money” is coded as “Gi Si Ki”, then what will be the code for “Leayet? ' |
- A)Di - B)Li | C) Zi annot be determined
8. What is the code for “Transfer™ - - N )q
B) Fi ,__Q'(Q-nnnt be detcrmilthm‘ DiorFi
5 the word for the code “Si” in the given code language? iy e
B) Today C) Banks D) Digita

g D) Either Si or Ci
A) Bi

g ¥ F’l.‘ . “Bi 31 Ci7 flare@at Vi e nde for “Market™?
n 1 -“MS et easy 1s writien s a3 o1 <l ,_\-;_n.- <@
). If*“Money market easy b o ) @)f

_ n)es Ave



QUANTITATIVE APTITUDE o

121. How many keystrokes : sded to type numbers from 1 to 10007 0
A) 1001 T TTR ) 2704 ) 2890 |
I?.lﬁlfd the value of P for which the point -1, 3), (2, p) and (5, ~ 1) are collinear.
(o B) 2 )3 D) 4 "
L
123,245 the equation x* — kx + 1, have no real roots, then: 3
[ A-2<k<2 B)-3<k<3 C)k>2 Dy k<-2
“123. What is the sum of all the natural numbers lying between 250 and 1000 which are exactly divisible by 37 37
A) 157365 : B) 153657 i @@3?5 D) 155637
ces are 24 sq. cm, 48 sq. cm and

125. Soapis in the shaﬁc of a cuboid. The surfdce arcas of three mutually adjacent fa ‘
EL

32'5q. cm, Find the volumgq “the soap (in cubic cm).

A]Tl«ﬂ .-"92 | ) C)162. | D)216

126. Out of the 90 studcnt:f in a class, 10% of the students like all the three games — Cricket, Football and Hockey. The
is 20. The number of students who like anly 12

number of students who like any two and only two of the above games 1

ber of students who like oply Football or only Hockey.

Cricket is 36. Find the maximum possible num

A) 12 B) 18 C)20 5
127. The smallest perfect square that is divisible by 8! Is: ' AV - ;

A) 7(9)) B) 7(8") C) (9)/ 8 ’C@?n (8) B
128. A runs at a speed 25% faster than B and is able to allow B a lead of 7 meters to end a racé in dead heat. Whatis

the length of the race? | ' ==

A) 10 B) 15 0 ‘ D)
129 d the sum of the first 30 terms of the s¢ri551+2+3+4+6'+6-l-1ﬂ:‘l- B+15+10+21 + 12+'-28:+';:;-_ﬁ5 t

B) 720 _ ' C) 880 - D) 900 2

920
130. Ina gathering, if each pgrécn shook hands exactly once with eaghpf the other participants, a total of 55 han " aki

-W-.cxchanged, How many people were there m—gbfmﬂ'ﬂnﬂ? N )
A)9 Y O I el D) 12
131. - You and your friend ¢an complete a task in 30 days. If you are twice as efficient as your friend, the time
i e Ltﬂ.wfﬂ ele ask S L -_. i = . I - . : } '-.rt'
and 160 days C) 40 days and 80 days D) 40 days and 0 da

-1




el

ne of the roots nf the
8 qﬂaﬂram ; llcc:quatmu ;&@4 Ois 1.
=018 1.5, then what i
178 is the value of m?
D) Cannot be determined

his boat in still walcr' km h'
153 :
-,LQ\,,.'E["} i P mor: lhanthtspﬁdufﬂw i ingh
oy 4 ; stream, then what is the time taken by Shakti Si
2 - 13 f } . 4 -2 )
! ‘ﬂ. . C) \ D)8

98. Find the correct mean of Lh&se observa
A)90.9 : B} 84.9 mr@ 4
: . 4 _ D) 90.6

A sum of Rs. 7,000
amounts to Rs. 9,800 in § years. h‘l how many years at the same rate would Rs. 875 amount 10

137.
Rs. 12757
A) 4
B)S C]ﬁ ﬁmbﬂ;mmm

138,
An unbiased die was rolled thrice. The total of the numbers appearing on its 10p face was 14. Find the pn:-habﬁnw_.r

_ :fthn dice showing up 6 onthe firstrole.
)14, . B)1M S DYNS
‘perimeter increased by 6%: Find the

139. As
a result of a change in the length as well as the breddth of a rectangle, its

ntage increase in its breadth, if its area is increased by 12.36%.
' D) Cannot be determined

¥

w

- A 6:’!«‘6 - B’j 8% & C) 9%
& I = ..k' ‘ z |
1407 What is the areca of an oblus: anglc.d triangle whm two std:s are 8 and 12 jits and ﬂ\e ang'le inclided between

:  thetwo sides 18 150°7 -
Fo - 4 sq. units Al B (\V5 sy i 15
: } Such a triangle does not exist D) None-of the above )

Dlrectiun for question nos. 141 {0 146: . |
Study the following Bar Gtaph carefully to answer these questions. a2
' Number of students who opted for two course = | O Q,L«i v P
and 11 ﬁ'ﬂm five colleges in & eity : % y 2 2
2504 242 2 4% a6 232 519 w 2
s i ] 198 196 _ _ @
- 150- ' | A2 Y
1001 | - byt
501 | 1
04 .
HCnm: I UCamse -1l Sl
ﬂmtoﬂllfumw of students whubp’ﬂf-dfﬂw'?; S}T“‘“ﬁ"‘“

In}wmh ﬂme gﬁy@ B VA Tl
"1 from oolleges C, D and E s what percentage less than (e

W. The number of students Who opted for course — & B ¢
nimber of students who opted for course —EA i .qgung:s_ﬁh,FB-and C?
(8) }3.9% OBy 183% -, MERRO 1



143,
A) 702 1) 682 1) 742

How many students optesd tor course - 11 from u@!dl together? /

: 144, What is the ratio of the number of students who apted tor course — 1 from A and I together 10 the number
students who opted for course - 1L from colleges B and 1D together? -
A)2R:25 H)32:20 - Cy 4037 . )} None of these
(LD
145, W ercentage of students of the colleges A and B together opted tor course — 17
) = a0 -
JA) 50% B) 58% ) 60% D) 65%

146. How many students opted for course ~ 1 from lh D and E together?
A) 428 B) 438

147, In the figure given below, O is the centre of the circle. The tangent at the point A intersects the secant CD at'§
ZABC = 30° and ZDAB = 40°, Find 20DC.

.
C) 24° D) 12° {;1 W
148. How many 3 digit positiygintegers exist that when divided by 7 leave a remainder of 57 "
A) 128 ﬁw 129 4] D) 143 k.

149. In acertain disirict, one in three is a graduate and one in four of these graduates is either an engineer, a doctoro
a lawyer. The graduates who are puiier qngr=ers, 10 Joclors vy knveas, form what percentage oﬁﬁ ‘
\ 1on? ;

259 B) 30% C) 16.67% D) 13.33% L

156 'I'hret years back, a father was 24 years older than his son. At present the father is 5 times as old asth& 0N

old will the son be three years from now?
A) 3 years B) 6 years 9 years D) 12 years
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SetD

SetC

SetB

SetA

Q. No.

10
11
12
13
14
15
16
17
18
19
20
21

22
23
24
25
26
27
28
29
30
31

32
33
34
35
36
37
38
39
40

41

42




43

2/4

44
45

46

47

48

49

50
bl

52

53

54
b5
56
57
58
59
60
61

62

63

64
65
66
67
68
69
70
71

72

73

74
75
76
77
78
79
80
81

82

83

84
85
86
87




o O TP PSP
A

C

88
89
90
91

92
93
94
95
96
97
98
99
100
101
102
103

104
105
106

107

108
109
110
111
112
113

114
115

116

117

118
119
120

121

122

123

124

125

126

127

128

129

130

131

132




133

134
135
136
137
138
139
140

141
142
143

144
145
146
147
148
149
150

Note: # denotes that the question has been withdrawn.




